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0.9t = 900kg = 900000 g
— 900000 + 900 = 900900
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@ 4.9a=490ha
(@)0.54 ha = 5400 m?

O 25km? = 2500a
® 6800000 m? = 680 a

® 370a = 3.7m?

B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a = 0.49ha

® 6800000 m? = 68000 a

® 370a = 37000 m?




4. o A ot g 2 AL ok AU

D 0.02km? @ 0.2ha 3)2000a

@ 20000 m? ® 2ha

B

T 22 &9= 1AM v
@ 0.02km? = 2ha
® 2000a = 20 ha
@ 20000 m? = 200a = 2ha

o Bt




@ 80km? © 90000 m?

@ 7000000 m? @ 0.6km?

© 7000ha

® 9000a

[
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B

SE ha 992 DN Hag
@ 80 km? = 8000 ha

© 90000 m? = 900a = 9 ha

©® 7000 ha

® 7000000 m? = 700002 = 700 ha
@ 0.6km? = 60 ha

® 9000a = 90 ha
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i
2
N
Mo
o
£
i
El
Ho

» E. ha

240 x 150 = 36000( m?) = 360a = 3.6 ha
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> HEH 3000a

1km? = 10000a |22
10000 a 9 %% 3000a Yt
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34=(0+5)x2,
o+5=17,

O =12(cm)

— 60 m? = 600000 cm?

w2hA Yol 12 x5 = 60(m?) Yy th
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25000 m?
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= 7.5(ha)
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=15 (5+7.5) = 2.5( ha)

2.5 ha = 25000 m?
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Ut o] EZof 5kg A
A=A FoHA L.

=

>
> HEb 5070

(8 2 5 e 47 3)

= (4000 — 15 x 250) = 5 = 250 = 5 = 50(7H)




